100000000000000000000 taji_alc

1000b00o0ooobo0ooooooooog taji-ale
1.00
2007 0 11 O

ogod,ooon




Copyright (© Takumu Shoji, Shinichi Tajima. 2007. All rights reserved. Licensed by GPL.



Chapter 1: 10000000D0O0O0OOOO 1

1 100000000000000

1.1 1000000000000 DO000000b0b0O0 tajicale 0O
00

0000000 1000000000000 000000000 tajicalce 000O00O0OO
o0o. dgoboooooooooo,dgob bbb oooobooobg
Risa/Asir 0 00000 taji-ale” (Risa/Asir Journal (2007)) 0000000000 0OO.

1.2 1000000000 00O0O00O0O0O0O0

gooooboobooboooo,
import("taji_alc.rr")$

gboooboboobooboooaon.

1.2.1 taji_alc.cpfd

taji_alc.cpfd(num,den)
20000 num/den0000000000OO0.

return switchD 00 1000, [[[00,[00000,0000,.),.] 00000.
switch0 100 11000,[00,[00000,000J),..]00000.

num (00DD00O000)000

den (00D0DO0O0O0O0O0)000

000 (00000000 QO0000000)[00,000),.]00000

switch gogoooon
case 0 : complete 0000000 DO0O0O. (DOOOODOOODOOO)
case 1 : complete 1000000000 . (CODOOOOOOOODO)
case 10 : 000000000000 DOOOUOO. (DOODOOOUOOOODO)
case 11: 00000000000 OOOOOOO. (DOOOOOOOOOO)
default : case 0

e taji_alc.cpfd() O, proper 00D D OO0OOOOO. OOO0O proper 00000000
oooboooo,0b00dbooooboooooooon.

e NO0ODOODODO,00C00DODO completeD OO0, 000D0OO0O0DOOOO 2000
O00000. tajicaleepfd() DO ODOOOOODOOOODODOO,0000000D0. OO
g,go0obgobgobobobobobobobo.

e den],J00000000UD0OD. (DOD0ODOOOUOO,0D0D0DD0OO0OO0UDODODOOO
000.) 000000000,000000,000000,000000000000
ugbobo.gboobobooboobobg.
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[235] taji_alc.cpfd(x"3-x-1,x"4+2%x"3+2*%x"2+2%x+1) ;
[[[1/2%x-1, [x"2+1,1117, [[-1/2, [x+1,2]], [1/2, [x+1,1]]]]

[236] taji_alc.cpfd(x"3-x-1,x"4+2%x"3+2*x"2+2*x+1|switch=1);
[[[[x-2,2], [x"2+1,1]111,[C[-1,2], [x+1,2]1],[[1,2], [x+1,1]1]1]]
[237] taji_alc.cpfd(x"3-x-1,x"4+2%x"3+2*%x"2+2xx+1|switch=10) ;
[[1/2*x-1, [x"2+1,1]], [1/2*x, [x+1,2]]]

[238] taji_alc.cpfd(x”~3-x-1,x"4+2%x"3+2*x"2+2*x+1|switch=11) ;
[[[x-2,2], [x"2+1,1]], [[x,2], [x+1,2]]]

00
Changel.og
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1.2.2 taji_alc.snoether

taji_alc.snoether (num,den)

20000 num/den000000000000O0C0OCOOOOOOOOOOO
go.

return ([0o,0000000),.]00000.

num

den

00000000,0000000000000000000
(000D0D0000)000

(00D0O0O0O00O0)000
000 (00000000 QO0000000)([[00,000],..]00000.

switch ooOooooao

case 0: 0000000 [DO0OOOOOO,.)OO0O0OOOOOO.
case 1 : 0000000 [DO0OOOOOO,.)OODOOOOOO.
case 10: JO00O0O0OOOO [[DO0O0O00OOO,.|,00]0000O0OOO.
case 20 : 0000000 [DOOO0COOOO,.],00)]0000O0O0DOO.

default : case 0

e taji_alc.snoether()0,dend QO OOODODOO,000000000000000O0OO.
e den],0J00000O000DODODO. (DODODOOOUOOO,0D0D0ODOO0OUDDODOOO

000.) 000000000, 000000,000000,000000000000
gboob.oobooooooooooooo.

OoboOoO00 switchOOODOOO.

case 100, 0000000O0OOO00DOOO0OO,000000O0O000O0OO0O0O0O

00000000.0000000,000000C0C00000O0O0O00OOOD (OO
00000000)00,0000ooooon.
case 200, 000000000000 (0D00O0O0OO),b0Q0O0OOOODODODOOOO
0000000O000.00000000000O000OODO0000O (boooOoo
0000)00,0000000000 (casel00D0O0O0OO0)0,0000000000
oooooooo.
[296] taji_alc.snoether(l,[[x"3-x-1,3]]1);
[[x"3-x-1,[9/529%x"2-27/1058%x+11/1058,-81/529*x~2-9/529*x+135/529,-49
05/12167*x~2+4563/12167*x+3270/12167]11]
[299] taji_alc.snoether (1, [[x"3-x-1,3]]|switch=1);
[[x"3-x-1, [[18*x~2-27*x+11,1058], [-81*x"2-9*x+135,529] , [-4905*x~2+4563
*x+3270,12167]11]]
[297] taji_alc.snoether(l, [[x"3-x-1,3]]|switch=10);
[[x~3-x-1, [[414*x~2-621*%x+253,-3726*x"2-414*x+6210,-9810*x"2+9126*x+65
40],2433411]
[298] taji_alc.snoether (1, [[x"3-x-1,3]]|switch=20);
[[x"3-x-1, [[[18*x"2-27*x+11,529], [-162*%x~2-18*x+270,529] , [-9810*x~2+91
26*xx+6540,12167]1],2]11]

[241] taji_alc.snoether (x"3+1,x"18-2*x"14+x"10-x"8+2*x"4-1|switch=10);
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[[x"4+x"3+x"2+x+1, [[-2*x"2-x-2] ,50]], [x"4-x"3+x"2-x+1, [ [-2%x"3+4*x"2-x
-2],5011, [x~2+1, [[-x+1,8*x+5],32]1]1, [x+1, [[-6,-39]1,3201], [x-1,[[2,-24,6
71,320]11]

00
ChangelLog
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1.2.3 taji_alc.laurent_expansion

taji_alc.laurent_expansion(num,den)

return

num

den

switch

20000 num/den00000000000CODODOOOOOOOOO.

([0O0,000000000],..]00000.
0000000000,000000000000000

(000D0O0O0O00)oo0o0

(00000000)000
000 (00000000 QO0000000)([[00,000],..]00000

gopboooo

case 0: JO0O0OOD0OOUOO [DUO0OOOOUOO,.)ODO00ODOOOODO.

case 1 : 0000O0OOO0OOO [DODOOOOOO,..]OO0O0DOOODOO.

case 10: 0O O0O0O0OOOOO [[DO0OQOOO,.],00]0000000O0O.
case20: O 0O0UOO0OOOUD [[DOOO0OOOO,.],00]000DDOOOO.

default : case 0

e taji_alc.laurent_expansion() O, taji_alc.snoether() D000, 0O0O0O0O0OO0OOOOOO

go.

e taji_alc.laurent_expansion() 00, CO0 100000000000, QOO0OOOOO
gbodgboobooboobooboboo. boobuobobobooboo,uoobo
gbooboooooooooooobobobobobobo.bob,1000000
goboboboooobboooobbogog,0oooboboooobboooobobog
00 (o0o0o0)oooooooooooo.

[354] taji_alc.laurent_expansion(x, (x-1)73);

[[x-1,[1,1,0]11]

[356] taji_alc.laurent_expansion(x~5+x"4+x"3+x"2+x+1,(x74+1)73);
[[x~4+1,[1/64xx"2+1/64*x,1/16*x"3+1/16%x"2-3/128*xx-5/128,-5/128*x"3-1/
8xx"2-3/16%x]1]]

oo
Changel.og

Section 1.2.2 [taji_alc.snoether], page 3
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1.2.

4 taji_alc.residue

taji_alc.residue(num,den)

2 0000 num/den000000000O000O0.

return [0oo,o00],..] 00000

num

den

(000D0O0O0O00)o00o0

(00DD0OO0O0O00)000
000 (00000000 QO0000000)([[00,000],..]00000

switch gobooooo

pole

case 0 : DO OOOOOOOODOOODO.
case 1 : 0O DOODOODOODOODODO.

default : case 0

ooooooo
[00,.]0000000000

e taji_alcresidue()0,dend QUOO0OOOO,000000 (DC00OO0OO0O0ODO)0O0OO

goobooo.
ooogoo poledboooooobbooboobobobo0.bobooboob oo,

e taji_alcresidue()0000000OODOOOODODODO,COO010000O0O0O0O0OOO,

g

QbOoooooOoboOoooooOoooboooOoOobL.ooboooboo,0bbooobobooo
goooboboooobooobo.oboobo,1oogbooooboboooooboon,
0000o00o00o00oo0o000 (boooo)ooooooUoooooo.

[219] taji_alc.residue(l,x"4+1);

[[x~4+1,-1/4%x]]
0000000,00000000-1/4*%0,x"4+10 (4000)0000000O0O0O0O
ooooooooooooo.

den],000000O0O0O0O0O0O. (DDDDDDDDD,DDDDDDDDDDDDD
DDD.) goooooooo,0oooouog,0ooogoo,onoboggoooooon
gooo.oooooooooooooo.
[221] taji_alc.residue(x"8,[[x"3-x-1,3]1);
[[x"3-x-1,-2243/12167*x"~2+2801/12167*x+5551/12167]1]
[222] taji_alc.residue(x”~2+x, [[x+1,3], [x-1,3], [x"2+3*x-1,2]1]);
[[x~2+3%x-1,-284/4563*x-311/1521] , [x-1,89/432], [x+1,7/432]]
[223] taji_alc.residue(x"2+x, [[x+1,3], [x-1,3], [x"2+3*x-1,2]] |switch=1)

[[x~2+3*x-1, [-284*x-933,4563]], [x-1, [89,432]], [x+1,[7,432]]]

[234] taji_alc.residue(x”~2+x, [[x+1,3],[x-1,3], [x"2+3*x-1,2]] | switch=1,
pole=[x+1]);

[[x+1,[7,432]1]]

[225] taji_alc.residue(x”3+1,x"18-2%x"14+x"10-x"8+2*x"4-1);
[[x"4+x~3+x"2+x+1,-1/25%x"2-1/50*x-1/25] , [x"4-x"3+x"2-x+1,-1/25*xx"3+2/
25%x~2-1/50*x-1/25], [x~2+1,1/4*x+5/32] , [x+1,-39/320], [x-1,67/320]]



Chapter 1: 10000000D0O0O0OOOO

Changel.og



Chapter 1: 10000000D0O0O0OOOO 8

1.2.5 taji_alc.invpow

taji_alc.invpow(poly,f,m)
000 Qx)/<H>000 polyDOODOD mOOODODO.

return ud
poly ooo
f QUDOODODOD
m goo

switch ooooooo
case 0 : DO OOOOOOOOOOOO.
case 1 : OO oooooon.
default : case 0
e polyd fO0O00D0DOODODOOOOOO.

e 00D DODODODODODOOOOD200000. 000U UOOOUOUOUOUOUOOUOUOOO
oooono.
[236] taji_alc.invpow(3*x72-1,x"3-x-1,1);
-6/23%x"2+9/23*x+4/23
[237] taji_alc.invpow(3*x72-1,x"3-x-1,1|switch=1);
[-6xx~2+9*x+4,23]
[238] taji_alc.invpow(3*x"2-1,x"3-x-1,30]|switch=1);
[1857324483*xx~2-2100154824%x-477264412,266635235464391245607]

00
ChangelLog
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1.2.6 taji_alc.rem_formula

taji_alc.rem_formula(polylist)
000 fx)D0oO0o00o0ooooooooO.

return switch OO0 O0O0DOOO
polylist fx) D QODOODODOOOOD [[oO,0D00,00000l,..] 00000

switch ooooooo
case 0 : xUQOQOOOO,000000Q0.
case 10 : f(x) 000000, 000000. (D00O0DOOOOOO)
case 20 : x OO OO OO, symbolicOOODOONO.
default : case 0
e JI00DOOOD,0D0DOODOODDOODOODO.
e JO00DODDODOODOODODODODODODOD,switchDODOODODO.

e switch=0 00 000000000. 0000, f(x)=f1(x)"ml*2(x)"m20000. 00
0 [[f1(x),m1,21),[f2(x),m2,22]] 00O0. 00000000,

[r_f1(x,z1),r_f2(x,22)]

gobooboogbb.oob,o0nood

r(z) =rp(x, 21) + 7oz, 22)

000000000000 000000. 0000 rfi(x,z) O,

[p~(mi-1)(z) 000000 x0 zi0000,...p°(0)(z) 000000 x0 zi 000 0]
gooooooo.

e switch=10 00000000000, 0000, f(x)=fA(x)mO0000. 000
[fl(x)mz)] O0O0. 00000000,

[r_(m-1)(x,2),...,r-0(x,2)]

ggodaoogoooob.oboob,bboodad

r(z) =rp_1(z,2) fi(z)™ "+ + 1oz, 2)

0000 fi(x)00000000000000000000. 0000 rii(xz) 0,
[p~(m-1)(z) 000000 x0 z0000,...p°(0)(z) 000000 x0 z0000]
goobooooog.

e switch=20 00000000000, symbolicOOODO p~(m)(z) 0, p(x) 0 mO00O0
gbodzOobOooOooboboboboo.

e JOOO,000000O00DODLOOLODOODODLOODOODODL. DODODO 200
gbobobobobobobo.ooo,

[228] taji_alc.rem_formula([[x"2+1,1,z]]);
[[-1/2%z*x+1/2]]

oboobobO,x" 2410000 al,a20000000,z0 a10 a2200000,

r(x)=(-1/2%al*x+1/2)+(-1/2*a2*x+1/2) 00 0. 0000000, 000000000
oooooooo.
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g

[583] taji_alc.rem_formula([[x-1,1,z1],[x-2,1,22]]);

[[-x+2], [x-1]]

[684] taji_alc.rem_formula([[x-1,1,z1],[x-2,1,22]]|switch=20);
(-p~(0) (z1)+p~ (0) (22) ) *x+2xp~ (0) (z1) -p~ (0) (22)

[687] taji_alc.rem_formula([[x-1,2,z1]]1);

[[x-1,1]]

[588] taji_alc.rem_formula([[x-1,2,z1]]|switch=20);
p~ (1) (z1)*x-p~ (1) (z1)+p~ (0) (z1)

[494] taji_alc.rem_formula([[x-1,3,z1]]|switch=20);
1/2*xp~(2) (z1) *x"2+(-p~(2) (z1) +p~ (1) (z1) ) *x+1/2xp~ (2) (z1)-p~ (1) (z1) +p~(
0) (z1)

[229] taji_alc.rem_formula([[x+1,2,z1],[x"3-x-1,1,22]]);
[[-x74-x"3+x"2+2xx+1,-2*%x"4-3%x " 3+2*%x " 2+5*x+3] , [(-1/23%z2"2-10/23*z2+1
6/23) *x"4+(-12/23%z2"2-5/23%z2+31/23) *x~ 3+ (-5/23%z2"2+19/23%z2-12/23) *
X"2+(22/23*%22°2+13/23*%22-53/23) ¥x+16/23*22"2-1/23%2z2-26/23] ]

[230] taji_alc.rem_formula([[x+1,2,z1],[x"3-x-1,1,2z2]]|switch=20);
(-1/23%p~ (0) (z2) ¥2272-10/23%p"~ (0) (z2) *z2-2xp~ (0) (z1)+16/23%p~ (0) (z2) -p
~ (1) (z1)) *x~4+(-12/23%p~ (0) (22) *22°2-5/23*p" (0) (22) *z2-3*p~ (0) (z1)+31/
23*p~ (0) (z2)-p~ (1) (z1) ) *x"3+(~-5/23*p~ (0) (22) *¥z272+19/23*p~ (0) (z2) *z2+2
*p~(0) (z1)-12/23*p~ (0) (z2) +p~ (1) (z1) ) *x~2+(22/23*p~ (0) (22) *z2~2+13/23*
p~(0) (z2) *22+5%p~ (0) (21)-53/23*p~ (0) (z2) +2*p~ (1) (21) ) *x+16/23*p~ (0) (22
)*z2°2-1/23*p~ (0) (22) *z2+3*p~ (0) (z1)-26/23*p~ (0) (z2)+p~ (1) (z1)

[231] taji_alc.rem_formula([[x"3-x-1,2,z]]|switch=10);
[[[(3/23%z"2-4/23) *x"2+(-1/23%z+3/23) *x-4/23*z~2+3/23*z+4 /23, (162/529%
z"2-174/529%z-108/529) *x~2+(-105/529%z~2+54/529%z+70/529) *x-108/529*z"
2+116/529*%z+72/529] , [(-6/23*%z"2+9/23*%z+4/23) *x~2+(9/23*z"2-2/23*z-6/23
)*xx+4/23*%2~2-6/23%z+5/23]1]

ChangelLog
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1.2.7 taji_alc.solve_ode_cp

taji_alc.solve_ode_cp(poly,var,exppoly)

return

poly

var

exppoly

switch

data

00000000000 oobbboooogd

Pu(z) = f(2), u9(0) = co, ..., u"Y(0) = ¢,

gooooo.
O00,PO0n0000000000OOOOUOO,f(z00000000O.

200000000.

0001 (000oooooooooon)
0000000000 u(z) 0O,

u(z) = coup(2) + -+ + cno1Up_1(2) + v(2)

00000000000000. u(2),...,us1(z)00000000000, v(z)
0oo00O0O0O0000000,

[u-0(z),...,u_(n-1)(2),v(2)]

goboooooo. ggoooooo,boooogoooooa.
O002(@OooO0o0oooon)

data0 0000000000 0ODO,0000000000 u(z)0O coye.vycnO
odoooboooooo, 0o0o0odooooobooboooooooon
0oo.

000 (pOOOOODO)

00D (POODOODD QUOOODOOO)(0D,000],.] 00000

000 (00D0O0O000)
000000 0,0000000f(z)000000000.

gobooaoo
case 0 : DO ODOOD0DOO 200000000000 0000O0OO.
case 1 : DUODODOODODO 200000000000000000.

default : case 0

0ooooooo
00000000 [c0,...c(n1)] 000000000,

e D000DDOODOO(D0DODOOODOODOD)ODOOODOO

e 00D 20000 (0000000000 DODOOODON). poly0OO00ODO varOOO0O
ooDoooooooo.

e 00DDDDODw(2)0,000000 v(0)=0,...,»®Y0)=0000000000
ooooooog.
[287] taji_alc.solve_ode_cp(x*(x-3)°2,z,0);
[[[x-3,0],[x,1]], [[x-3,-2+2/3], [x,-2/3]], [[x-3,1/3*z-1/9], [x,1/9]]]

[289] taji_alc.solve_ode_cp((x~3-x-1)"2,z,0[switch=1);
[[[x~3-x-1, [(92%2+200) *x~ 2+ (-69%z-254) *x-92*z+43,529]]1], [ [x~3-x-1, [ (92
*z+420) *x "2+ (-46%z-216) *x-161%2z-280,529]11], [[x~3-x-1, [(-69%z-195) *x"2+
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(23%2z+327) *x+23*%2z+130,529]1], [[x"3-x-1, [(-161%2-270) *x~2+(69%2+290) *x+
184*z+180,529]11], [[x"3-x-1, [-105*x"2+(-23%z+54) *x+69*2z+70,529]1], [[x~3
-x-1, [(69*z+162) *x~2-174*x-92%2z-108,529]11]]

[277] taji_alc.solve_ode_cp(x~2-4,z,0);

[[[x+2,1/2], [x-2,1/2]1], [[x+2,-1/4], [x-2,1/4]1]]

[278] taji_alc.solve_ode_cp(x~2-4,z,0|data=[1,-1]);
[[x+2,3/4], [x-2,1/4]1]

[279] taji_alc.solve_ode_cp(x~2-4,z,0|data=[c0,c1]);
[[x+2,1/2%c0-1/4%c1], [x-2,1/2%c0+1/4*c1]]

RN

ChangelLog
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1.2.8 taj

taji_alc.s

return

poly

var

exppoly

switch

switch2

i_alc.solve_ode_cp_ps

olve_ode_cp_ps(poly,var, exppoly)
0000000000000 0D0D0O0Oooog

Pu(z) = f(2), u2(0) = cq,...,u"V(0) = c,_,
gooooooo.
D|:||:|,DDDDDDDDDDDDDDDD,f(Z)#ODDD.

gbooboooo

000 (POOODOOO)
000 (POOD0OOOOO QOOOOOOOO)[00,000),.]00000

000 (000O0000)
f(z)000000000

gbooooon
case 0 : DODODOODOODO 200000000000000000.
case 1 : DO OOOOODOO20000000000000000¢0.

default : case 0

oooooon
case 0 : DO ODOODODOOODOO.
case 1 : OODOOOOOOOO.

default : case 0

e 10020000 (00DULUUDODODOOOOONO). polyDOOOO varOOOO
gobodgboooon.

[345]
[[x+3
[346]
[[x-1
[347]
[[x+3
[348]
[[x-2
[349]
=1);

[[x+1

[350]
+111)
[[x-1
x-3, [

00
ChangeLog

taji_alc.solve_ode_cp_ps((x-2)*(x+3),z,[[x-1,1]11);

,1/20], [x-1,-1/4], [x-2,1/5]]
taji_alc.solve_ode_cp_ps((x-2)*(x+3),z, [[x-1,1]] |switch2=1);
,—1/411

taji_alc.solve_ode_cp_ps((x-2)*(x+3),z, [[x-2,1]1]1);

,1/25], [x-2,1/5%z-1/25]]
taji_alc.solve_ode_cp_ps((x-2)*(x+3),z, [[x-2,1]] |switch2=1);
,1/5%z-1/25]1]
taji_alc.solve_ode_cp_ps((x-2)*(x+3),z, [[x+1,1], [x-2,1]1] |switch2

,-1/6]1, [x-2,1/5%z+2/75]]

taji_alc.solve_ode_cp_ps((x"3-x-1)*(x-3)"2,z, [[x-3,2], [x-1,3*z"2
, [-6%z"2-36%x2z-119,8]], [x"3-x-1, [42291*x~2+55504*x+32313,12167]1], [
4232%z~2-4278%z-4295,97336] 1]
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1.2.9 taji_alc.fbt

taji_alc.fbt(num,den, var)
20000 num/den0000000000000C0COOOOOOOOOOO

oooo.
return [D000OO0000,.) 00000
num (000D0O0O0O00)ooo
den (000D0D0O0O0O)o00o0

000 (00000000 QO0000000)[00,000),.]00000
var 000 (000oo0)

switch ooooooo
case 0 : U OUOOOOO 20000000000 O0UOOOOO.
case 1 : D OUOOOOO0O 2000000000000 0O0OO0O.
default : case 0

e 00D 20000 (0DD0O0UOUOODLDOOULOUDDOOUOOO). num/den000
O0var0onooboobOoboobOoDbO.

e taji_alc.fbt() O, Res(Rat*exp(z*x)) 00 00000000000000. 000000
000000000000000,00000000000

e J0DDDO0ODODOD tajicaleresidue() 00000000, 00O taji-alc.residue() O
gbobooooooooo.

[235] taji_alc.fbt(1l,(x"3-x-1)73,2);
[[x~3-x-1,(9/529%z"2-81/529%z-4905/12167) *x~2+(-27/1058*z~2-9/529*z+45
63/12167)*x+11/1058*z"2+135/529*z+3270/12167]]

oo Section 1.2.4 [taji_alc.residue], page 6
ChangelL.og
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1.2.10 taji_alc.invfbt

taji_alc.invfbt(exppoly,var)
000000000 0DOoOOoooooDoO.

return gooao
exppoly goooooog
var 000 (DooOooooooo)

switch ooooooo
case 0 : D OQOOoOOO.
case 1 : 00000 (00,000 QUO0OO0O0O0OOO0OO|0D0DOOUODOOO.

default : case 0
e OO 20000 (DDDDDDDDDDDDDDDDDDDDDDDD). goooo
gooag.
e taji_alc.invfbt() O, exppoly O, Res(Rat*exp(z*x)) 000000000000, RatO
gooao.
o taji_ale.fbt()00O0OOO0.
[8] taji_alc.invfbt([[x"3-x-1,2%xx 2%z 2+x*z+1], [x"2+1,z*x+2"2]],z|swit
ch=1);
[B*x~14+14%x"12+39*x " 11+33*x~10+179%x~9+206%x~8+350*x "~ 7+223*x "~ 6+126*x"
5+176%x"4+107*x"3+101*x"~2+15%x-4, [ [x~2+1,3], [x~3-x-1,3]]]

[9] taji_alc.fbt(3*x"14+14%x"12+39%x"11+33*x"~10+179%x~9+206*x~8+350%*x"~
T+223*x"6+126*x"5+176*x"4+107*x"3+101*x"2+15*x-4, [[x"2+1,3], [x"3-x-1,3
11,2);

[[x~3-x-1,2%z"2%x"2+z*x+1], [x"2+1,z*x+z"2] ]
oo Section 1.2.9 [taji_alc.fbt], page 14
Changel.og
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